ATt B ﬁiﬁ%?ﬁﬁ]%d'ﬁllli&)ﬁﬁv‘* FHRIEBTEERFEA
111&77 12p 3%
¥ = . 7 % & 31 ER Ficit ¥R
W gR(D) S PRER RFIX 26k F
B 08/24 [F=] (4 ¥y T%g;;(l) A F b g iicd £ prigsia| oy
RoAFEFRARL B EER
2| 08/26 [x7 ) |=%2 &ivibEA 2 ék(l) Bira i A 401% %
1 | 08/31 [xx=] | fir ¢ ik z £ £ i REKE
1 [08/31 [x=]) |Fakv4R §#% Hiraix L4 B |14%ex:
2 (0907 [xz=]) [RERBETAES FKAFA i P | FEdKE
2 (0907 [x=])|=%2 &g K] gk Birax N 401% %
3 [09/14 =] |2HEiFg D/t BL R € (D) r & > AR
4 10921 [x=] [F# ¢&() £z LB kimlagemeng
4 109/21 [=] [z 3% (1D =1:00) W= L4 R S
5 [09/28 (=] |5 éﬁiééﬁcﬁiﬂ}mi%i(l) MEZLEA | EAHEIR(LREHE
W FRERQ) I P AER LULE 2L F €
5 [09/30 [x7 ) [ 2 v dad ] mﬁﬁéii%iﬁ%—T i* ¢ & prigEiEl g g
oA EEERALRL T R
5 [09/28 [x=] |HA-ALMdp HEFF ¢ & Biri iz B EEE| B iR
6 |10/05 (k=] [REHTAY Hiri iz >H MR E
6 110/05 (=] |Flek v LA F ek - FRILELR €34 W= L1 H B
7 [10/12 [3x=) [=% 2 &AL T A 2 g &(3) Firiix L4 R 401% %
T 110712 [ =] [2 4 ke € R Q) /RKEFF & 30 7Y G 5K ) i3 + > % AEKRE
8 |10/19 [x=] |&# £:%(2) BEQE LEEXfE g Emgxs
9 |10/26 L= ) |5 % 48 8 3%An ] A3 (2) AELEL |LRESR|LBEK3
9 | 10/26 [3¥= ] [ € 3% (2)(F £1:00) wia 4R S
9 [10/28 [x1 ] :}fj i;{;iﬁ‘(s) PPR GG L EE Rk ¥ £ Frigaia| £l
10 | 11702 (=) |R ) KEFsro sy M s34 2y /e L4205 Biri i > AR E
11 | 11709 [ =] i%«g?{ﬁé@@) B £ B i AREFE
11 |11/09 [x=) | =% 2 & eibE 48] 2 g k(4 Firi iz N 401 % %
12 | 11/16 [x=] |5 & £ :%(3) BEDE LEEXT|igam R
13 | 11/23 [ix= ] [ € % (3)(¥ =1:00) WL L4 R B E
13 | 11/23 [sx= ] [#Fxmy W= 8 REKE
A FRERWU SRR FD E L N i
13 | 11/25 (1 ] ﬁ: ; iéfif@g;\uwﬁi f%g;j L T N L T
14 | 11/30 [x= ] |[Kp #F2 &FGR) FKArdix 2[R FRE
15 | 12/07 [3E= ] [ 2 ®e&éw ¢ & (4) B £ > H AR E
15 |12/07 [sx=) | =% % & el 84 2 g3k (H) Firiix g 401 % %
16 | 12/14 [F= ) |RpE~ 1 F(F ) ¥R E EC IS &
17 | 12721 L= ] |3 € 3 (D (¢ =1:00) W= L4 R HH 3
17 [ 12721 (=] |8 & ¢:%(D) BEL L E R AL R T o
18 | 12/28 [ = ) |5 ¥ 4 5 35de | 24k 3 (3) MEHZLEL | LAESR| LB ERE
B Fr RGBS PR GRS BAFRER S F
18 [12/30 [#7 ] |2 F e p 1 it gR(2): 4 FFFhAkfs| £ |mogeis) ¢ok
SRR S
19 | 01/04 [3x=] |2 #bw § & (D) T & g P E
19 101/04 [x=] 3R E Y £ h Ahid ¢ Wi L1 R BpE 3
20 | 01/11 (=) | 224t BE LEEXF| LFIHE
20 [01/11 [ =) [=% 2% &AL K] 2 g %(6) Firiix N 401 % %
20 | 01/11 [ =] [odf ¢ 32 (5) (¢ =1:00) Wi L4 R W E
20 [ 01/11 [z ] |#F 2ALB4p F X f7 € 3R i |empEEi| Fid
21 [01/18 [F=]) [ A FETEHH 454 € 3% % £ >R MEKE
21 [01/18 [3x =) |skAes BEL B € (D) ¥ariiE L4 R & B




